/ CH0P*# . 2P 1=Pa[= <= BROU>a=P8= 1+ 1 JP4dEd[> H)=[ =P E[4P<= UROU=

)= 82=="E9OLNKA: C47:CCAL;<
(LA
| {12

|
Il

Projet de promotion pour des
centres de compétences CHNC

e .

~1j0] &580HHAE >@ 1KIMPAP: 2J10]]m 4SgP5]>: >]8%48g] >g >SP5.08 LQ>gM]L@ >g 98EE @d 18]H 0SJJ6T: >L]69i6gk SEELOL5AGQM 18 15861  $v) ™)

YOz .3

&JF[ =P BIP <= O4alP>=; I= 888
"P<d\a[J= 4 >a> = URJPa <= [4W=I
O=Pa <ldP=7=lli= 7[R8H=aa= <UPg/l
2\ [FU>\=PadPa\ <=\ OJi=di <=
4 O48HIP=IRdal =a <= N=P\=JEP=I
O=Pa \U>8MN\>I T=\a <RP8 4g=8
dP= I>EJRIO= Bi=[a> Yd= = <J[=8I
a=d[ O=[E=/RH[=[ 4 <Ja \RP UMNJ[
<UPAdEd[=[ = PRdg=4d 1=Pa[=<=
8ROU>a=P8-\ 1+ 1 <d 8=B3 "P<cd\l
a[J=; M7=00\> U4[ OhN\O=0 4g-8
I= \Rda)=P <=\ U4[a=PAJ[=\ JP<d\I
a[IFN\ &=J<=PH4JP 08Hh=)k [%at¥a
$=HIO4PP [T =\ <=di =Pa[=U[JI
\=\, 74>\ [F\U=8alg=O=Pa 6
08HN=[k=P748H =a O=RP V[%it
\RPa 48aJg=\ <4P\ V4 7[4P8H= <= 4
O48HIP=IRdallit

=031, 36 #1360 %8 38131

0hMN\O=0 =\a 4\\R8J4aJRP B4
al0[= <= IUP<d\a[I= \dI\\= <=\ 04
SHIP=\[ #ill= 4 ON \d[ W< <Ji
8=Pa[=\ <= 8ROU>2=P8=\ &=\ Y=
8\l) <d 88 "P<d\a[I=; <RPa <=dii
\=di\ =P 0d\= [RO4P<=; 04JPal
"Ol[ =a "=bORPH 1E\a <J[=
IOUR[a4P8= Yo = 8=38 "P<d\a[ =
488R[<= 6 8=aa= M 7=\4aJRP; YL

4 R7a=Pd 4U[@\ dP= JOUR[a&4Pa=
Tdae=[J= <= a=\a\l 0#8B? $087? )C
>+287)>* U JE “SH->*7 &4*T >+712,
[=/@g=0=[E=/RH[=[("*B7 )*? :>I73
"4 $BE +ABH )* )17:87%>)*? 7861 43
RE77%7 2BEHT*? *4 )* Y ¥T>
B7* .>6HMB7 *B>*7k* $D* )¥?
TRITF) (P SWG*TA >86:B*?
0 " A*E*>77* 1

1=\ U=[\RPP-=\" 8RPaJPd=[RPs;
U4[ AN=d[\; <=\dlg[=<~\8Rd[\ <=
[>U>alaRP; 8ROO= I\ 4UU=I=
, Ngl=[ &47=EE=[; [F\URPM7I= <=
OhMNO=O URd[ ¥ Od\\= [RI
O4P<=(-Rd[4gR)[ \dJglldlIO?0=
dP 4UU[=Pal\\E= <= O>84PJ8}=P
>=8a[RPIBJ=P <4P\ \= 8=Pa[= <=
BR[O4aRP JO>[I=P; ,Ngl=[ &4l
7=EE=[ P14 UA O4PYd><=[4UU=[
Y6 1l>URYd= <>16; RP j <I\U=P\4Ja
dP=BR[O4aJRP 4d aRU <= 14 a=8HI
PRIREJ= <MIR[\X

BYdlU=0O=Pa <= BR[O4aRP
[F\a=dP 4da[= UR\a= U[JOR[<J4=a
IV B4da U\ Yd= L4040\ <\UR\=[
<IdP 8=Pa[=<=BR[O4aRP U4[B4Ja=I
O=Pa>Yd)U> U4[ <=\ O48HIP=\<=
<BB>[=Pa\ <=E[>\ <= \RUHNaJg4l
alRPX [IPV; = 8=88 4 <e 48Yd>[J[
dP=B[4)\=d\= -J8RO4i C";dP ORI
<@= dla[4U=[BR[O4Pa U[R<dJa U4[

$=HIO4PP; 4P <= <\U=P\=[ dP=
BR[O4aIRP a[@\ URJPad=\d[ 8=aRdl
all 84U47\= <?7a]= UJRa> U4[ 8ROI
O4P<= PdO>[JYd= Rd O4Pd=l\=l
O=Pal

1H=[[j RdO4[<; <J[=8a=d[ <d
<RO4IP= 8B "P<d\a[}=; 4 7[R\\>
<=g4Pa \=\ JPgla>\ \= UR[a[4Ja <= 8=
Ydbadla L4<\ I= a=8HPIBAO <=
OAPal’OKl )= 8B ’P<d\af=
8ROUa=U[@\<=C11 >@g=\; U[JP8II
U4I=O=Pa 6 04)Pal’ OJ=[ O4N\ 4d\\J
6 *Rdal=[\ "N RB3[= <=\ BR[O4a)RP\
<4P\IF\ U[RB=\\IRP\ <=JP<cl\a[J=;
YdJ U=dg=Pa ?a[= \Rla <d4i=\; \Rla
=P BN@[= Ul=JP a=OUM

%3 %F+1)&

1=\ BR[O4alRP\ 47Rdal\=Pa 6
\R7a=PalRP <= 8=[alBl84a\ B><>[4di
<= 84U48)> VIS T O4N 4d\\ <=
Odad[Ja>\ U[RB=\\RPP=I=\( 0"*?
DBMUBT?  KT274<B*? 98B.*TA
)BT )+ 41 )A6$/* $B2>-7)*<945-0%7
*T 4T )* VBB BR/BBHH( *T7
SWBH> $B>-? ) 6*%*B?
Y*7h* *BE1; [FO4[Yd= 1HE[[j
3RAOA4[<X -Rd[a4Pa; 8=a= JO4E=
=P [=a[4Ja P=\a U4\ Ld\alB)>==a =4
72\ <= Yd4la> Yd) g)=Pa <[?a[= R8I
a[Rj> 4d 8= "P<d\a[I= <=g[4 8RP!I

a[J7d=[ 6 WAONR[=[( .d4Pa 6
O=[E=/RH[=[; N4JP\\a>\d[ = [S\=
JOUR([a4Pa Yd= [Rd-= li= 8=88 "P<d\l
a[J= <4P\ I= a\d JP<d\a[J=\ [>ERI
PAXO 78.5$7A% 5 .81 )*? .B6%8
MBT? % 57 K67 *A )*? 8B»?
A2+3>I<B*? -8B>5*? B>6HB7? )BR3
(5% 7*.. IT)BAS* ->8:87* 5 :5B?
/>$7)* 78B:5*77* - 87485+ $BE *7h*3
DIPTSR *BDFTA
6,6* 78B? "87.4% PB>? $: :>*TM?
:8B> B7* :p8)* )* .BOMET )*
&$7 )BT+ )B>+* DSIGSH( 2844
BT 5B> "BTDFTE T, ¥ Th* B
P9 *BDFTASBYU )$7? THABIT? B
¥ B> PODI* )*? §: >FTM?
Y¥)OT* 7T+ $.47 <BL?FA>68
T*7h B> 86387 )$7? BT )83
67> 2:+°14<B*; #8B? A787? %
$b* >*BD* )BT* -7 /5$7)* 78B3
7% A7866*7°870$I7°B? <BB7
KT* )* BBIMBT "866* i* T9*
$ABBE* 7% >$1787 )=,A*1; BRP8IdalN

"'4P\ dP 8RPa=ia= RF l= 8RPI
\=E[ B><>[4N (RH4PP 08HP=J<=[l
[OD4PP 4 [>8=00=Pa =iU[JO>
\A\ \=[g=\\d[ MBN@[=<=\ Odad|
[J8>\ EjOPANMAIE\; 1PAdEd[4a)RP
<d 1=Pa[= <= 8ROU>s=P8= 1+1
<d 8-88 "P<d\a[)= U[=P4Ja H}=[ dP
[=0=B aRda U4[aJ8dW=[



